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const float R = 33000;
const int button = 12;
int buttonState = 1;//
void setup()
{Serial.begin( 9600 );}
void loop()
{buttonState = digitalRead(button);
if(buttonState == HIGH)
{for(int i;i<9;i++)
{Serial.print("." );
delay(1000);}
Serial.print( "," );
delay(1000); int value =
analogRead( A0 );
float r = (1023.0 - value ) / (value /R);
Serial.printin(r); }}

R~ K

= ORBRIEA
void setup()
{pinMode(13,0UTPUT);Serial.begin(9600)}
void loop() {digitalWrite(13,HIGH);

float real resistance;

double float temp,real temp;

int resistance = analogRead(A0);

int temp = analogRead(A1);

nt sensorValue =
0;sensorValue0.000000000000 =
analogRead(A2); real resistance = (33 *
(float) resistance) / (1023 - (float)
resistance);float_temp = (double)

temp;real temp
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[1]

=0.000000000000007225397381420360
*float_temp*float_temp*float_temp*float

* temp*float_temp*float_temp(0.00000000001
9460930696205500000
float_temp*float_temp*float_temp*float_temp
*float_temp~+0.0000000211102767808744000
00000

*float_temp*float_temp*float _temp*float_tem
p - 0.000011979836164453000000000000
*float_temp*float_temp*float_temp+0.003873
760628079330000000000000*float_temp*floa
t_temp
-0.798965152541693000000000000000*float_
temp +

144.908297301114000000000000000000;

ORI ERE
JeBER
const int button = 13;
const int sensorPinl = AO
constintledl =12;
int datal = 0;int data2 = 0;
int data3 = 0; float data4 = 0;
int buttonState = 1;

void setup() {Serial.begin(9600);

pinMode(button, INPUT);
pinMode(led1, OUTPUT); }

void loop() {
buttonState = digitalRead(button);
if (buttonState == HIGH) {
digitalWrite(led1, HIGH);
delay(50);datal=analogRead(sensorPin1l)
delay(50); digitalWrite(led1, LOW);
delay(50);digitalWrite(led1, HIGH);
delay(50);//data2 =
analogRead(sensorPinl);
delay(50);//digitalWrite(led1, LOW);
delay(50);digitalWrite(led1, HIGH);

delay(50);//data3=analogRead(sensor

30

Pinl);// delay(50);//
digitalWrite(led1, LOW); datad
(datal+data2+data3)/3;

Serial.printin(data4); delay(100);

VU ~ L SR S B B R

#include "max6675.h"
int thermoDO = 4;
int thermoCS = 5;
int thermoCLK = 6;
MAX6675 thermocouple(thermoCLK,
thermoCS, thermoDO);
int vecPin = 3;
int gndPin = 2;
const float R = 33000;
const int button = 12;//
int buttonState = 1;//

void setup()
{Serial.begin( 9600 );
// use Arduino pins pinMode(vccPin,
OUTPUT); digitalWrite(vccPin, HIGH);

pinMode(gndPin, OUTPUT);

digitalWrite(gndPin,
LOW);Serial.printin("MAX6675 test"); //
wait for MAX chip to stabilize delay(500);
}void loop()
{buttonState = digitalRead(button);
buttonState = HIGH ;
if(buttonState == HIGH){//  for(int
i;i<9;i++){// Serial.print("." );//
delay(1000);// }
// Serial.print("," ); int value =
analogRead( AO );float r = ( 1023.0 -
value )/
( valueR );Serial.print( r );Serial.print(",");
Serial.printin(thermocouple.readCelsius()

); delay(1000); }}



